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132 AT &2 6 (TAVT 47 AkEE) 32m46
206 HH il MEHE 6 (LB Z X E)32m32
163 [LHEZ 6 (LRV2=TELE) 31m1b
204 )11 &5 A6 (Lo 21X y)29m98

1[14]
2[19]
3[18]
4[26]
5[23]
6[ 7]
71 3]
8[12]
9[11]



10 [24]
11[16]
12 [17]
13[ 2]
14 [15]
15 [20]
16 [21]
171 4]
18 [22]
19 [25]
20[ 8]
21 [13]
22 9]
23 [10]
24 6]
25[ 5]
26 [ 1]

6 H FEE6 (N2 7 7) 29m69
270 # B me 2k 6 (/NIET fE 1) 29m62
302 Al wREEAE 6 (KHEHEZ 77) 29m40
284 ® M fEE 6 (ks 7 7)) 28mlT
24301l B Ane6 (A = B =) 2Tmd]
246 %2 B A6 (4 E/NFEAR) 2Tm20
1238 B %6 (e E#E) 27m00
226 NH #Z%E5 (CGE # A C)26md3
328 B g A AE5 (HANLRE ) 26m15
266 7 UE  fERF 6 (FTIR A5 4%) 26m03
31T BER Mg 6 (RIMZ 7 ~7) 25m85
230 50 = &F 6 (KNE KR 25m78
140 /£ K HAL 6 (FEETFER) 24m41
33578 H AR 6 (W42 7 7)) 22mi3
267 fa AR R B 5 (FTIRAESFAR) 22mb4
179 & & R 6 GEEMERY2=7) 21mT7
268 [ii] 5B 0 FH 5 (FTIRAEFR) 20m98
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